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Fraction Basics

- Convert to mixed fraction
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BEDMAS - order of operations (¢ A~%
Evaluate each expression.
1) 3(6+7) 2) §x3x2
=3()= 39 43 730
3)72+9+7 4 2+7x5 = A+39
= tr= 1S ¥ =R
5)9+8-7 6) 9- 32+4
=\31-3= (o 9-8 =\
7) 5(10-1) 8) 48+ (4+4)
= S(@)=uS Wi =0
9) 20+ (4—-(10-8)) = Qo= o~ 10) 40+4 - (5-3)
“- 2 =) U-()= &
11) 9+9+6E5 12) 5+16)=+7 -2
Hae TS 2| 43-2 = 3%
\_7.1\ -—\q ~— =)
13) 7+10x5+10 = Qlo 14) (6+25-7)+6
W =<9 -390 =2 =l
15) (@—4)x49+7 :o\%;.} 16) (7x5)+5
EY <y /=S =3
%
17) ‘:3;21 +10 18) (8+5)x3—5+6 C
=Wy = bXlO \?L"/q*(‘",o\H
“ = 45 -
19) +8 20) ——
2+3+4 8(5-4)-3 s 9
A ok = G (-2 5
21) 8x15—5—(5+9) 22)2><7—1—04
AN - | ly- &
- - - ¥-_lo <
%7\3 \1 /'&0 G - \9\4
23) (10+2-2)x6—1 =40~ 24)£>< 60
lo X6~ _ 7 7 2x5
~ ,SO\ 3 % O = _Dr)(c’
0 =Yy
25) 2+6%X2+2-4)x2
(s 26) X(3+6)%x3
a+r \\ X 5-1
N———
v 41 = % * (O\wx%
S~——
“o ~\4 = X o\ X 3
PR = 18X
=5Y
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